— WG FE0 1 RGEAE LD 1

1RGO FE LD 1
hbi ST

1. WOGEAEZMERIV,

(1) 3 x + 9 = 4 x 2 7 x — 3 = 4 x - 15
3 6 —3(2x —5H) = x
4 9 x =1 — 2 (x —6)
(5) y 2 x 4+ 1 -
3
2. X (IZOWVWToOHFEXN x + a = 5 — 2 x

DN 2 ThHhHEE,  a DEEZRDRIV,

3 1E 80 HM» vWAZ L1 120 MO LEZEbHETISEE .
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— WG FE0

1R FEF LD 1

fRZE
(1) 3 x + 9 = 4 x 2 7x — 3 = 4 x - 15
- x = -9 7T x — 4 x = - 15
x =9 3 x = -12
x = -4
3 6 —3(2 x —5) = x
6 — 6 x + 15 = X
— 6 X — X = 21
— 7 X = 21
X = 3
(4) 9 x =1— 2 (x —6)
9 x =1 — 2 x + 12
9 x + 2 X = 13
11 x = 13
_13
* T
(5) WHIZ 3 AT,
3 x =2 x + 1 + 15
X = 16
2. x = 2 EMRATDHEL
2 + a = 5 — 4
a = -1
3.
WAZZ x HHESETD, LT 16 - x (fE)
80 x + 120 ( 15 — x ) = 1440
-50 x = —450
X = 9 Az
ZmLIE 15— 9 = 6 WAZ 9 M L 6 fA
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